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Ql:

a)

FINAL EXAM ASSIGMENT

A slit of width a is illuminated by white light.

For what value of a will the first minimum for red light of wavelength A = 650 nm appear at 6 =

15°?

What is the wavelength N\’ of the light whose first side diffraction maximum is at 15°, thus
coinciding with the first minimum for the red light?

For what value of a will the first minimum for red light of wavelength A = 650 nm appear at 6 =

15°?
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b) What is the wavelength A’ of the light whose first side diffraction maximum is at 15°, thus
coinciding with the first minimum for the red light?
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Q2:

a. What is the difference between reflection and refraction?
Explain the difference among angle of incident, angle of reflection and angle of refraction with
the help of formulae and a single diagram?

a) What is the difference between reflection and refraction?
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b) Explain the difference among angle of incident, angle of reflection and angle of refraction with
the help of formulae and a single diagram?
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Q3: The long solenoid S shown (in cross section) in the following diagram has 220 turns/cm and carries
acurrenti=1.5A,; its diameter D is 3.2 cm. At its center we place a 130-turn closely packed coil C
of diameter d = 2.1 cm. The current in the solenoid is reduced to zero at a steady rate in 25 ms.
What is the magnitude of the emf that is induced in coil C while the current in the solenoid is
changing?

A coil Cis located inside a solenoid S, which carries
current 7.
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Q4.

a. How to calculate the magnetic force on current carrying wire?
A straight, horizontal length of copper wire has a current i = 28 A through it. What are the
magnitude and direction of the minimum magnetic field B needed to suspend the wire, that is,
balance the gravitational force on it? The linear density (mass per unit length) of the wire is 46.6
g/m.

a) How to calculate the magnetic force on current carrying wire?
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b) A straight, horizontal length of copper wire has a current i = 28 A through it. What are the
magnitude and direction of the minimum magnetic field B needed to suspend the wire, that is,
balance the gravitational force on it? The linear density (mass per unit length) of the wire is 46.6
g/m.
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a. What is the difference between Resistance and Resistivity?

b. A rectangular block of iron has dimensions 1.2 cm x 1.2 cm x 15 cm. A potential difference is to
be applied to the block between parallel sides and in such a way that those sides are
equipotential surfaces as shown in the following diagram. What is the resistance of the block if
the two parallel sides are

(1) the square ends (with dimensions 1.2 cm x 1.2 cm)



(2) two rectangular sides (with dimensions 1.2 cm x 15 cm)?

= N

a) What is the difference between Resistance and Resistivity?

Q¢
\&)D\k emce oelwes,  DReslelomee. ond

M L 'Vtm »

&)&Mgg >
9\ Real ounce D

*thu_bjlamce becowse _ofy wawich OPFO___
ch2w_of

cwrent Fee  LicThov -
§ %‘w‘- DAS UDV\OJ 'CO u owg
Peraliune old ml—l) [ZM .pwzo_liﬂ.b_nml_ﬁa
.\Uu_v\CAoss sedbwal  area oL malimo -
ke 3 b R v i
ula loa  Aesdomce () D V/l 0A, R- A
wwe_u\lz '\folﬂe L= cument | AL v(_ﬁj i ‘
S‘T‘.L S1 uwk Ok AM(QTMC& LA Ol -
/ e D&DF&«'&A UD roxilonace O ped Su seve
D\ace,& like ﬂm,{)vsu,smm,ptc

Qgs’\'u’\f'T‘\/ z
9’____ "Re Ky o Ae ﬂms\

exs » M_E_UAQ.M_CLAJ
S endlhe Dh’ﬂnl Da;J]ru’tM malt s -

B e ng\boL [N D-
@Qm_\;—m RS VS /R
(Towmce | lgn%u.\,u Az CAp secliona) _owm-

é L S\ unl nl\ M\SD‘W%M

(JA&CC\) AAE xuui MeBAVApmant 1n ed an a

o" 13 ~conbel Otk _-th_kx_g)camom 3ot~
/v




b) A rectangular block of iron has dimensions 1.2 cm x 1.2 cm x 15 cm. A potential difference is to
be applied to the block between parallel sides and in such a way that those sides are

equipotential surfaces as shown in the following diagram. What is the resistance of the block if
the two parallel sides are

(3) the square ends (with dimensions 1.2 cm x 1.2 cm)
(4) two rectangular sides (with dimensions 1.2 cm x 15 cm)?

Feacontiont .
Fon _aramsemont §  we Wave Loz Wems

B o Ao enh) o AU 5t en

Q—DL—L‘\ R Ib 3 om ) 0sEm) 2
A A-UUA 0Tt

=1:0x10"Q - loopu0 . hw

_ﬂ%w”' %&M@A_M_
._Q___'“-d.w., y k- (48 1Sem) cwe  altaim

R DL =z (3-63¢ID %QJ&B—UJ__LD._%\__——

130 % 1075 43

2 6:Sx 106710 - 065 yO Any-

—

= - =
[F:: -
b B
|




